iw

1483 &
wu%

17 17
97&6 10Pp
142
FAL PR R R A ek W2 el F (BAD
%5 1
7 =% 1 i 38 P Hiw | &2 H i () %ir
= B 1 ARIRA
- i B 1 4,776, 500
= TARA LA B 1 495, 000
= BRLEAEFIA B 1 140, 000
T PRI A B 1 300, 000
ks 5, 711, 500
i & AlE 5% T 2 1 285, 575
% FREERET 0.2% B 1 11, 423
TR R b 1 285, 575
T |aAEm 0% B 1 571, 150
= FA ARy 0.3% B 1 17,135
B3 ARAR 6, 882, 358
R LR RPRERAIBG N Rp FRHARS T ELGY c AR IR P hoj RAAEKET E
SRR AT P ErFAEA R I VARELIE R AR R B P 120 P 2 KE -
2.5ARY R RFHAIFAAME e R RhY 2 Y N R IR A ERTEF Y
PR E LAY A
KR FWYHFF IR CHARREP Y B2 LB R FA R BTG E e A PR
ER I R kA
L34 S RB PRk E PR A1 A% GHRFEEIIRERFLT -
bR BB REF L FE MY FRI BREIF IR FRPHR R AREE
Gk T4 CTREPP R FRMY FRERY T 0 ) P (R FFRRP RN KE RF f
b A1detrl Wy R EFHHRA T o

PARRT i

R
>~



AR

97#62 10p
¥ 17 ¥ 27
1fE LA | AEE R A @SR FE Km0 F(BAD g ft e
K 1S 1 A2 5o
B = BB 2 R OP o = £ H i i kG (% 1)
= e AT i
3 - EHIAR S
1 Bk 142 ; 1 100, 000
2 YERAFZ2HI(FHEP) 5 1 200, 000
3 BB ik 5 1 62, 000
4 282 (Z%%) 5 1 50, 000
5 FoE 1A% S 1 300, 000
6 A 55 1 4% S 1 320, 000
7 Rt 1 AR N 1 150, 000
8 Fok 1Az S 1 450, 000
9 M §ade S 1 1,000, 000
10 Rk o 3 1 20, 000
11 B 4 i 7 1 1, 250, 000
12 I 142 3 1 80, 000
13 e K21 AR 5 1 412, 000
14 oA AR 3 1 200, 000
15 P a2 3 1 132, 500
16 Bokafe 3 1 50, 000
o) 3t 4,776,500
3= TAERB IR
1 T A St 3 1 170, 000
2 fen i E L 7 1 55, 000
3 ez B EL 3 1 180, 000
4 G EL2 M 5 1 90, 000
|3t 495, 000
%= B3 RRE AR
1 it 3 1 60, 000
2 fen i E L 7 1 80, 000
|3t 140, 000
i LRORK A AR
W W Kkt R
] ¥ Hixi g




[1 A=

ﬂ-T
9762 10p
¥ 2F £2F
1fE LA | AEE R A @SR FE Km0 F(BAD g p
W1 e 1 AR
o= A = & i W Skl (% 1)
1 fed 142 7 180, 000
2 et KA 7 120, 000
|3+ 300, 000
i e 5, 711, 500
A . KyEL R
1 ¥ i




